Using hierarchical ATUS data in STATA

Work with one record type at a time and merge them together when you’re ready. Makes it easier to troubleshoot coding problems and view data. First, an example showing how to make a time use variable that captures the amount of time spent reading during some mode of transportation. Second, an example showing how to use who records to create an indicator of activities done with spouses or unmarried partners and own household children.
Preparation
1. Create a hierarchical ATUS respondent only file from ATUS-X

2. Make a separate file for each record type
use filename_hierarchcial

keep if rectype==1
sort caseid

save _filename_household

clear

use filename_hierarchcial

keep if rectype==2
sort caseid lineno

save _filename_person

clear

use filename_hierarchcial

keep if rectype==3
sort caseid actline

save _filename_activity

clear

use filename_hierarchcial

keep if rectype==4
sort caseid actlinew
save _filename_who

clear

Using activity records to create time use variables: aggregating time 
1. Goal is to add activity times together (duration) to create an individual-specific  measure of time

2. Use activity records only

use _filename_activity

3. Create a ‘flag’ for each of your filters to indicate whether the activity record characteristics meet your criteria and a ‘flag’ for each record meeting all of your criteria

Flag for activity codes that represent reading 


gen _actread=0



replace _actread=1 if activity==120312
Flag for locations that represent a place other than home

gen _locs=0



replace _locs=1 if where>=102 & where <200

Flag for records that meet both specifications

gen _readlocs=0



replace _readlocs=duration if _actread==1 & _locs==1

New time use variable that adds duration of activities meeting specifications

egen readlocs=sum(_readlocs), by(caseid)

4. Now each activity record has two flags indicating whether the activity and location conditions are met, one flag indicating whether both are met, and one new variable that is the sum of DURATION for all records meeting the specified criteria. Confirm this by looking at the data. 

list caseid actline activity duration _actread _locs _readlocs readlocs, sepby(caseid)

Merging time use variables with person level data
Once you’ve created all of the time use variables you’re interested in using, keep only the linking keys and the time use variables for the first activity record. Remember, we’re aggregating up, and we can’t take all of the activity records with us. We really only want to take the time use variables we’ve created. If we need to return to the time use variable creation stage, we can easily make more TUVs, modify our keep statement, and re-merge the data together. 

1. Keep linking keys and time use variables

keep caseid readlocs if actline==1
save tuvs.dta, replace
merge caseid using _filename_person.dta
2. Check that the merge was successful. You’re looking for all values to be _merge==3, which means that all cases were in the activity record and person record files. Now you’re able to generate statistics about time use!
tab _merge

drop _merge

Using who records in the creation of time use variables 
1. Goal is to create a variable that captures the presence or absence of certain types of people that will be added to activity records 

2. Use who records only

use _filename_who

3. Create a ‘flag’ to indicate whether each person of interest is present during the activity 

Flag for relationships code that represents spouse

gen _spouse=0



replace _spouse=1 if relatew==200
Flag for relationships code that represents unmarried partner

gen _umpart=0



replace _umpart =1 if relatew==201

Flag for relationship code that represents own household children

gen _ownhhkid=0



replace _ownhhkid =1 if relatew==202
Flag for who records that meet specifications for a given activity

egen spouse=max(_spouse), by(caseid actlinew)
egen umpart=max(_umpart), by(caseid actlinew)

egen ownhhkid=max(_ownhhkid), by(caseid actlinew)

New time use variable that adds duration of activities meeting specifications
gen w_sppart_kid=0
replace w_sppart_kid=1 if (spouse==1 | umpart==1) & ownhhkid==1
4. Create a new variable that numbers the who records by person and activity. Who records that belong to the same activity are numbered sequentially beginning with 1. The numbering will restart when who records associated the next actlinew are encountered.
bysort caseid actlinew: gen wholine=_n
list casied actlinew wholine, sepby(caseid)

5. Rename actlinew for linking purposes

rename actlinew actline

6. Now each who record has one flag each indicating whether a spouse, unmarried partner, or own household child was present, another set of flags indicating whether each person was present during the activity, and one new indicator that meets the desired specifications.
Merging who level indicators with activity level data
Once you’ve created your who level indicators, keep only the linking keys and the who level indicators for the first who record associated with a given activity. Remember, we’re aggregating up, and we can’t take all of the who records with us. We really only want to take the who level indicators we’ve created. If we need to return to this stage to create more who level indicators, we can easily make more, modify our keep statement, and re-merge the data together. 

1. Keep linking keys and time use variables

keep caseid actline w_sppart_kid if wholine==1

save whos.dta, replace

merge caseid actline using _filename_activity.dta
2. Check that the merge was successful. You’re looking for all values to be _merge==3, which means that all cases were in the who record and activity record files. Now you’re able to create time use variables with who filters!
tab _merge

drop _merge
